0 vsing 1 0 sind : 0 wsing v
4 5 6

N (v) = ms(avgoo® + bvesrB)/

1 , , v+ mbs N(v) ,
, a
b(b= 7a) 2 )
m v : N(v) =
Vo 9 nitsve/ v+ mbs,N (V) ,
S 3 ,
) v o, ! !
o : v = vodrP
tab =a/ b ,
ng = ' ’
mav S = maveod , v = Vosird ( Vosird
n,= mbv co8 = mb| v- vosB]|, )b 454000)
n=ny+ np=
mavoco® + mb| v - vedrD |
200 400
t=s v, N(v) =
nt = (mavooo® + mb| v - vedrB|) s/ v ,
' . (Colin Hughes)
N(v) = ms(avgo® - bves®)/ v+ mbs,v= vedrD (Ruth Eastwood)
N(v) = ms(avg® + bved®)/ v- mbs,v < vodrD
4 5 6 , 150
N (v) tab >a/ b, N (v) , 81
4 ., v=vedrB 32 ,
Nmin= msacotd ; tab =a/ b
N (v) 5 ., v=vedrP , ,
Nmin = msb,
© taP < a/ ( Nature,2006 7 6 )

18 6 ( 108 ) - 57 -



